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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-1/I1 tEEXAMINATION-SUMMER - 2017

Subject Code: 3300004 Date: 15 -06 -2017
Subject Name: Engineering Physics Group-1
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WML, 14
Write S.1. Unit of velocity.

Aoletl AY.AUY. AsH AU,

Write S.I. Unit of acceleration.

YAolofl AUAUY. AsH AU,

Write two applications of Vernier calipers.
clolaR dclludetl A GUAN AW

Write Newton’s universal law of gravitation.
o3f2atoll dccllsrLlell U (AAM vl
Write definition of cohesive force.

AAGA ool vl @,

Write definition of Calorie.

ScAloll catvaul el

Write definition of frequency.

Alg(Aofl catvaul cul,

Write definition of periodic time.

Ul dsinedl caval cul.

Write frequency band of audible sound.

sitet tellloll wig(d ug saucl.

If frequency of a wave is 12MHz and wavelength is 25m, then find the
velocity of the wave.

%l 818 dR0loll lg(A 12001 8% U R0l dolle 251 &l Al
cR0lell Aot 0.
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Q.2 (@)  Write list of fundamental physical quantities of S.1., its S.I. Units and its 03
symbols.

Yal.? (W) AAAS.AsH UrulQul dHldwe yaold elllds AR, Aol AsH 03

Ul Aoll Asit cull.

OR
(@ A main scale of Vernier calipers is calibrated in mm. If total number of 03
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division on Vernier scale is 20 then find out the Least Count Measurement.

As clelaR dclludell yua tiuuda Hlcdlleul viEd scl B.
Aoll otlal Huugl UR A 20 Qewdll At sl Al allar 3cefludsdl

CUIETRIRVETCRREN NN
Write law of conservation of linear momentum.
A2 AdLHLet AR&Rlell [RAH AW,

OR
If mass is 100kg and force is 1000N, then find the acceleration.

%l £0la] YCL 100519l W WNg] YEL 1000 of2atl dlal dl YAols]

yeau el
Explain positive error and negative error of micrometer screw gauge.
eS| HleR g Aol Ut wal bRl 32| UMl

OR
Write definition of kilogram and second.

(BAAH wA Assell vl Avll.
Write Newton’s first, second and third law of motion.

oJ2atotl oAl yau, ollogl ua sl Rad cvl.

OR
Write two uses of surface tension.
Y dlllell A GUAN AW,
Write uses of elasticity.
RAQrUUS ALl GUAN AW,
OR

Define surface tension. Give its S.I. unit

YredlRloll cautval AU doll AQAUE. AsH AU,
Write applications of ultrasonic waves.

WELAAls A290etl GUAN LU

OR
Write Stefan-Boltzmann’s law.
Wl gol-0llca B3 HLotoll [AauH vl
Write two uses of viscosity.
Ralotlclloll Gl GUAN AWl

OR

Write three modes of heat transfer.

GuHL YuRElell 2ol (Al Al

Differentiate longitudinal wave and transverse wave.
AU WA AMILA AR ARl dAslelct AU,

OR
Write factors affecting acoustics of the building.

Hslolloll Ll UBRA AR Sl Ul e,

Write principle of superposition of wave.
A200ell FufAs0lll Rtuid L.
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OR
Why echoes are not possible in small rooms? Write reason.

olloll BURSIHL USUL 2L H2 s otl? 51201 wru.
Write dispersion of light with figure.
Yslalej (Aetoset wislQue AHestal.

OR
Write reflection of light with figure.

Yslale] URlcldol Agldue umendl.
Write applications of nano technology.
Aol esollclell GUALN AW,

Write properties of alpha, beta and gamma rays.
alest, oflal wal auHL (3006t Rl Aul.
Write applications of gamma rays.

SUHL (860t GUADN WL,

Write refraction of light with figure.

yslale] asleiclet wsAue AHesal.

If average life time of radioactive substance is 5 days, then find its half life
time.

sle LA Al Uueldell URRAA Wclot sl 5 Eadall B. Al Aell
ot slo .
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